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PART-A

Answer all the questions within two to three sentences 2x10= 20 Marks

thlt is the necessity of warp protector motions in power loom?

Write about the principle of climax dobby?

What do you mean by Automatic powerloom?

What is the need of warp stop motions?

Wt are all the factors affecting the production of a warping machine?
Write the formulae for calculating the efficiency of a warping machine?
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Calculate total number of ends in a warp, if the creel capacity is 500 and number of sections

8. 100Kg warp yam found to weigh 120 kg after sizing. What is the percentage of size put in

the yarn?

9. Calculate the actual production in hours of a cone winding machine with a calculated rate of

winding of 500 meter per minute and efficiency of 80 percent?

10.  Calculate production per hour of a loom running at a speed of 200 rpm with an efficiency of

80 percent. The number of pick inserted per inch in the cloth is 80 ?

PART-B 12 x 5= 60 Marks

11.  A) Compare side weft fork mechanism with center weft fork mechanism?
B) With the help of neat sketch explain about the working of climax dobby?
OR
C) Compare the loose reed and fast reed warp protection motions?
D) With the help of a neat sketch explain about the working and mechanism of
fast reed warp protector motion?

12. A) Write about Automatic power looms and its automations?
B) With the help of a neat sketch explain the mechanism and working of any
one type of Drop box mechanism?
OR
C) Write about automatic weft replenishment and its types?
D) Prepare a layout plan for accommodating 50 powerlooms. Also mention the
facilities which are necessary for the shed?

13. A) Calculate the quantity of yarn required in pounds to make the warp of 1000
yard length with 500 ends. The count of yam is 20° Ne and ignore the wastages
during warping ?
B) A warping unit with 3 warping machine is required to complete the order of
30 back beam with 30,000 meters of warp on each. The calculated warping
speed of the machine is 900 metres per minute and the efficiency of the
machine is 80. Calculate the time that would be required to complete the work(8)
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OR

C) Calculate the ‘beam count’ of a warpers beam which we?ghs 303 pounds and
has 12000 yards of warp on it. The total number of ends in the warp is 420 ang
the weight of the empty beam is 63 pounds.? (4)

D) Five hundred (500) cones are to be used for producing back beams containing
500 ends and length of warp required on each back beam is 25000 metres.
The weight of yarn on each cone is 2 Kg and its count is 20 tex, calculate the
number of back beams that could be produced from the cone and also calculate
the weight of warp yarn on each back beam? (8)

14. A) The total number of ends in a warp is 3200. Calculate the number of sections
to be made and the number of ends per section, if the creel capacity is 500. (4)
B) An unsized warp of 1000 meters long is required to be sized to 20% on it
weight. If the total number of ends in the warp is 3000 and the count of the
warp yamn is 10 tex. Calculate the following
i. The weight of the size to be put on the warp
ii. The weight of sized warp
iti. The count of the sized warp yarn o (8)
R
C) The reed width of the warp is 40 inches, if 7 sections are to be made for the
warp,what is the width of each section? Consider 2 inch as the allowance in
calculation 4)
D) A stripe warp has 42 stripes of 40 ends each, 40 extra pattern ends and selvedge
ends 14 on each side. Find the number of sections and the number of ends on

each sections. The creel capacity is 500 bobbins. (8)
15. A) Calculate the time required to wind 400 pounds of 12° cotton yarn on 10 drums.
The actual production per drum per minute is 560 yards.? 4)

B) The stoppages of a loom per hour due to various causes are as follows:
Number of re shuttling @ 25 seconds is 6 per hour
Number of warp breakages @ 3 per hour, the time for mending a broken warp end being
on average of one minute.
Stoppages for other causes 5 minutes per hour,
Calculate the running efficiency of the loom? 8)
OR
C) A shuttle less sulzer loom is running at 276 rpm and producing a cloth with
46 picks per inch. If the efficiency of the loom is 85 percent, calculate the
production in yards of the loom per day of 8 hours? Q)

D) Calculate the number of spindles of a fully automatic pim winding machine that
would be required to supply 276 looms with weft, if the quantity of weft consumed
by each loom is 12 pounds per day of 8 hours. The calculated production per
spindle per day of 8 hours is 18.4 pounds. The efficiency of the pim winder
is 90%.Ignore waste? (®)
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PART-A
Answer al the questions within two to three sentences 2x10= 20 Marks
1. Which type of warp protector mechanism is suited for denim cloth? Why?
2. What are al| the functions of lattice and peg in climax dobby?
3. What f’" You understand the term * Weft Mixing'?
4. Whatis the scope of dobby in powerloom weaving?
5. What do you mean by the term back beams 7
6. Write the formulac for calculating the Beam count in Ne system?
7. Calculate the number of sections to be made , if the creel capacity is 500 and total number of
ends ina warp is 300097
8 IOOll(?g warp yarn to be sized with 15% size put in the yarn. Calculate the weight of sized warp
yarn
9. Calculate the actual production in hours of a pim winding machine having 6 spindles with an
0 efficiency of 80 percent. The calculated rate of winding is 300 meter per minute?

Calculate production per hour of a loom running at a speed of 300 rpm with an efficiency of 80
percent. The number of pick inserted per inch in the cloth is 70 ?

PART-B i2 x 5= 60 Marks
11.  A) Enumerate the principles of loose reed and fast reed warp protector mechanism? (4)
B) With the help of neat sketch explain about the working of side weft fork

mechanism? (8
OR
C) Draw the diagram of pegged lattices suitable for Ri ght handed & Left handed
climax dobby by taking 3 up 3 down twill? 4
D) With the help of a neat sketch explain about the working and mechanism of
any one type of warp protector motion? (8)
12. A) What are all the features required for a automatic power loom? 4)
B) With the help of a line sketch explain the working of automatic pim changing
mechanism? (8)
OR

C) Write about the necessity of automatic weft replenishment mechansim and its types? (4)
D) Prepare a layout plan for accommodating 50 powerlooms. Also mention the
facilities which are necessary for the shed? @®

13. A) The warping speed of a modern warping machine is 500 meters per minute. Calculate the

length of warp in meters that can be produced on 5 warping machines in a day of 8 hours. The
efficiency of the warper is 80%? @
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14.

15.

B) A super speed warper producing  warp with 500 ends is having an average prodyction rate

of 700 yards per minute. The length of the warp required on each back beam j5 30,000 yards. if

the count of the warp yar is 50° Ne and the efficiency is 89.29%, Calculate the following:

' day of 8 hours?

i The length of warp produced per

ii.  The number of beams produced per day of 8 hours?
iii.  The total weight of warp produced per day of 8 hours?

iv.  The weight of warp on each bac(l;ll;eam? ®

C) Calculate the quantity of yarn required in pounds to make the warp of 1000 yarq

length with 500 ends. The count of yamn is 20° Ne and the wastages during

warping is 5% ) “4)
D) A super speed beam warping machine is required to supply 60,000 meters of warp with
3400 ends for a set of back beams. The count of warp is 30 Tex. If the capacity of warping
creel is 500, calculate the following:

i.  No. of back beams to be made?
ii.  No. of ends on each back beam?
lii.  Weight of warp yarn on each back beam? (8)

A) The calculated rate of production of a slasher sizing machine was found to be 22500 yards
per hour. Find out the actual production per shift of 8 hours with 80% efficiency?. 4)
B) A set of 8 beams each containing 32000yards of warp is to be used for producing of
weaver’s beams on a high speed slasher sizing machine. If the percentage of elongation of
warp during sizing is 0.5% and waste of warp is 60 yards, calculate the number of beams
which could be made from the back beams. The length of sized warp on a weavers beam is
1200 yards.? 8)
OR

C) A sized beam contains 60 Kgs of sized warp of 1000 meters. The count of the unsized yarn
from which the warp has been prepared is 20 tex. If the mumber of ends in the warp is 2500,
Calculate the percentage of size? 4)

D) A stripe warp is to be prepared on a sectional warping machine with a creel capacity of 480
bobbins. There are 70 stripes in the warp, each stripe containing 36 ends. Besides, there are
20selvedge ends on each side. Calculate the number of sections to be made and the number of
ends in each section.? (8)

A) The time taken for winding a full pirn on a super speed automatic pirn winding machine
with out any stoppages during the period is 2.5 Minutes. The weight of the yam on the pirn is
50 gms and the count of the yam is 25 Tex. Calculate the actual production of a machine with
6 spindles per day of 8 hours, if the efficiency is 85%.7 4)

B) A cloth is to be woven with 20 picks per cm on a loom having a rpm of 200. The total
length of warp on the beam is 1200 metres and the warp take up in weaving is 5 percent. If the
efficiency of the loom is 77percent, calculate the time required to weave the warp on the loom

beam. Take 8 meters as waste of warp? ®)
OR ]

C) How many drums would be required to wind 1000 pounds of 24° cotton yarn in 12 hours, if
the actual production per drum per minute is 560 yards, Ignore yam waste.? @)
D) A weaving shed contains looms of the following particulars:

150 looms of 32 inch reed space

200 looms of 36 inch reed Space

200 looms of 40 inch reed space

150 looms of 48 inch reed space

What is the average reed space of the loom? ®)
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PART-A Y
Answer all the questions within two or three sentences. 2x10=20
L i List out the objectives of warp protection mechanism.
1. List out the characteristics of a double lift dobby.
iii.  What do you mean by box motion or box mechanism?
Iv.  Write a short note on card saving device.
Y. The diameter of a line shaft drum is 7.5 and its speed is 90 rpm. Calculate
the speed of machine pulley if its diameter is 15”.
vi. Calculate the Beam count, if the beam contains 12600 yards with 420 ends.
Weight of the full beam is 362 Ibs and weight of empty beam is 51 Ibs.
vii. Calculate the number of sections, if the number of warp ends required is 2700
and creel capacity is 500 bobbins.
viii. Calculate the efficiency of a slasher sizing machine whose calculated production
1s15,795 yards per hour and actual production is 12,004 yards per hour.
ix. Calculate the number of spindles required to wind 280 Ibs of 20° yamn in a pim
winder in 8 hours. The actual production capacity of pirn winder is 1.4 Ibs per
spindle per hour.
X.  Calculate the picks per inch in a cloth where the dividend of 5 — Wheel take up
mechanism is 2112 and the change wheel having 48 Teeth.
PART-B
Answer all the questions in detail. (4+8x5=60)
II. a.  Compare Side weft fork and Centre weft fork motions. (04)
b.  Explain the working principle of Centre Weft Fork Motion with neat sketches. (08)
OR
c. Differentiate between Tappet Shedding and Dobby Shedding. (04)
d.  Explain the working principle of Climax Dobby with neat sketches. (08)
[ll.a.  Write a note on Drop box motions. (04)
b.  Explain the working of Drop box motion with neat diagrams. (08)
OR
c.  Write a note on weft replenishment mechanisms. (04)
d. Explain the working of Warp Stop Motion with required sketches. (08)
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IV a. Thew arping speed of modern warping machine is 600 mpm and the Efficiency is 75%.

Calculate the length of warp in meters that can be produced on 3 warping machines in a
day of 8 hours.

b. The calculated speed of a super speed warping machine producing a warp with 500 ends
' 750 mpm. The length of warp required in each back beam is 32,000 meters. If the count
of warp yarn is 20 Tex and the Efficiency of the machine is 80%. Calculate the following:

i The length of warp produced per day of 8 hours.
. The number of beams produced per day of 8 hours.

The total weight of warp produced per day of 8 hours.
The weight of warp on each back beam.

ui.
V.

OR

¢ Given that the speed of wooden drum is 45 rpm and diameter of the drum is (04)

20 inches. If the efficiency of warp is 65%, what is the length of warp prepared
PEr warper per day of 8 hours?

d. A super speed warper with a warping speed of 880 ypm is preparing a standard (08)

warp of 525 ends. If the count of the yam is 30° and the overall efficiency is 84%,

calculate the following. The length of warp on each beam is required to be 44 352
vards. Ignore waste.

%I The total length of warp produced per day of 8 hours.
1. Number of beams produced per day of 8 hours.

1i. The total weight of yarn in Ibs. warped per day of 8 hours.
iv. The weight of yarn on a beam.,

V. a. The total number of ends in a warp is 2700. Calculate the number of sections and (04)
number of ends in each section to be made, if the capacity of the creel is 500 bobbins.

b. A stripe warp of the following particulars is to be made on a sectional warping machine. ~ (08)
Total number of ends 2240: Number of ends per pattern 32; Number of extra pattern
ends at both ends near selvedge 24; Selvedge ends at each side 20. If the creel capacity
1s 480 bobbins and width of warp in the reed is 35 inches, calculate the following:

i.  Number of complete pattern in the warp.
1. Number of sections to be made.

ili. Number of ends per section

iv.  Width of warp on the Weaver's beam

v.  Width of a section.

OR

¢. A sizing machine is sizing 1,334 yards (actual) per hour. It feeds warp to looms (04)
producing 4 yards of cloth per hour on an average. It is also observed that the cloth
produced having 6% regain and 0.5% waste (per weaver’s beam). Calculate the number
of looms that the slasher machine could supply.

d. The calculated production of a high speed slasher is 100 ypm and machine efficiencyis  (08)
75%. Calculate:
i Actual production per day of 8 hours.
ii. Total length of warp yarn, if the total ends is 3250.

iii. Total weight of sized warp, if it is sized to 10% and the count of unsized yarn is
40° cotton,
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The winding speed of a pirn winder is 880 ypm . Calculate the actual production
per day of 8 hours for 20° cotton yarn at 86% efficiency.

. Calculate the number of high speed winding machines and the number of winding
drums per machine that will be required for feeding 5 high speed warping machines.
The average actual production of warping machine is 75,600 yards per 8 hours and the
average numbc?r of ends warped on back beam produced on this machine is 400. The
winding machine is supposed to have on an average actual production of 303 hanks

per 8 hours. Warp yarn waste during warping is 1%.

A shuttlele'ss loom is running at a speed of 279 rpm and producing a cloth with 46 ppi,
if the efficiency of the loom is 85%. Calculate the production of the loom per day of

8 hours.

. A jobber looks after 40 looms in the day shift. The varieties of cloth produced on the
looms on a particular day of 8 hours is given below. Calculate the average production

OR

of the day at 40 picks.
Variety Picks per inch | Production in the day
Sort No.1 36 284 .4 yards
Sort No.2 52 2717.2 yards
Sort No.3 60 825.6 yards
Sort No.4 72 118.8 yards
3ok sk ok ek ok
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(08)
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(08)
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Time: 3 Hours

: PART-A
Answer all question within 2 or 3 sentences. 2X10= 20

i ’) What are the objects of warp protection mechanism.
ﬁlH Mention 2 types of weft fork motion
i Mention 2 types of multiple box motions of a power-loom.
'V} What is the Purpose of warp stop motion?
-P\\\ )\;) The calculated production and a

ctual production of a warping machine is 15,000 yards and 12,000 yards
respectively. Calculate its efficiency.

¢ Vil Aline shaft of 10 inches diameter is running at a speed of 120 RPM. Calculate the speed of the machine
o pulley with diameter of 20"
12 vii)

The total no. of ends in a war
250 bobbins.
The sized warp weighs 120 Ibs. The percentage of size is 10

¥ Calculate the time required to wind 10,Ibs of 20° yarn, if the speed of the machine is 560 yards/minute.

X) Caiculate the time required to complete a beam of 300 yards. The loom is running at a speed of 200 RPM
with 50 Licks/inch. LAY

PART-R

P15 3000. Calculate the no. of sections to be wound if the cree! apacity is
viii) %. Calculate the weight of unsized warp.

Answer all questicns in detail:

37 Compare locse Beed motion and Tast Reed motiui.

4
b7 With a neat diagram, explain the working principle of Fast reed motion. 8

OR
¢) Compare Side weft Fork and Centre weft Fork motions.

T6 0 * 6955260

4
d) Explainthe working principle of center weft Fork motion. 8
,%5‘3" ~a) Explain the principle of Electrical warp stop motion. 4
"(b) With a neat diagram explain the working of mechanical warp stop motion of an automatic powerloom. 8

€ OR
a«"F ¢ Yorite short notes on shuttle feeler 4
“so 4, Mith a neat diagiam explain the working cop changing mechanism of an automatic power ioom, 8

IV. a) Abeam warping machine runs at a speed of 100 RPM and its diameter is 24",
what is the length of warp prepared per day of 8 hours.
b) Calculate the time required to prepare a set of 6 wa
of 600 yards/minute. The length of warp on each b
warping machine is 85%,

If the efficiency is 80%, 4

rp beams on 2 high speed beam warper at a speed 8
eam is 40,000 yards. The over all efficiency of the

OR
produces 1,96, 560 vards of warp per day of 8 hours
if the calculated wanping speed is 455 yards/minute, calrulate its efficiency.

9; Caliudate the nu. ui wvaiper uearns and the length warp,
==, whicn LOntains ¥z Ibs of 40 yarn. The no of ends ir, the

- # A modern high speed beain warping machine
i

! Can be produced from 520 bobbins each of
wWarp is 2080 Allow 5% for wastage 8



V\:é;' ‘al The total no. of ends in a warp is 3000. Calculate the No. of sections to be made, if the creel capacity
Is 400.
b} Astripe warp has 40 stripes of 50 ends each, 80 extra pattern ends and selvedge ends 28 on each
“ side. Find the No. of sections to be made and no. of ends made in each section, if the creel capacity
13400 bobbins. e,
: OR
€} A warp containing 3000 ends of 44" count is sized to 10%. If the sized warp weighs 150 Ibs, calculate the
‘ength of sized yarn.
4) The average actual production per loom of » weaving shed 15 6 5 yards of cloth per hour The take up of
AT N Weaving is 855, The actual production of the slasher which is supplying beam to the weaving
shed is 32,000 yards per day of 8 hours. Calculate the no. of looms it can keep running  Allow 1%
as waste of warp.
VI a) Calculate the time required to wind 500 Ibs of 32 * cotton yarn on 10 drums. The actual Heeclistem)
drumis 480 yards/minute.
b) 1506 1ibs of 40° cotton yarnis to be wound in 8 hours on a high speed machine at a speed of 600
¥ards per minute. If the machine runs with 0% efficiency, how many winding drums could be
en o
required. ’:)53 P.pﬂ oF
/;ﬁ, A jetloom is running at a speed of 75@ picks/inch and producing bandage cloth with 30 picks/inch.

3

Paas

If the efficiency of the loom is 90% , calculate the length of cloth produced is 8 hours.

A weaving shed nf 500 1ooms has an 2. - . -- G07200 and averaze reed width of 427, The

~2roduction per loom per day of 8 hours at 44 picks is 52 yards 19the nirns onaverege nolds 1.5 ounces
facitand the average count of weft (s 407, how many pirns are required per day of 8 hours. Allow 1%

waste for weft.

R

4

4

s

8
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Max. Marks: 80

NOTE:- ANSWER ALL QUESTIONS WITHIN TWO OR THREE SENTENCES. [2x10=20]
! a) Mention any tow auxiliary motions of ordinary powerloom.

b) Mention two types of warp protecting mechanisms.

¢) What is the purpose of attaching multiple box motion on a powerloom?

d) What is the use of cop changing mechanisms?

e) Mention the formula for calculating efficiency.

H The Surface speed of the warping drum in 200 yards/minute. Calculate the actual length of

warp wound in a shift of 8 hours.

£) A stripe warp has 45 stripes of 50 ends cach and 80 ends extra for selvedge. Calculate the

total number of ends in the warp.

h) 50 Ibs of unsized warp becomes 55 Ibs after sizing. Calculate the percentage of size.
1) Calculate the length of yarn wound per/minute if the diameter of the drum is

3 inches and RPM is 2000.

i) Calculate the production per hour of a loom running at a speed of 120 RPM with picks per inch of 80.

PART - B
Answer the following questions in details:

11 a) Compare single lift and double lift dobby system.
b) With a neat diagram explain the working of “Loose Reed Motion® of a powerloom.
OR
¢) Write down the defects in dobby weaving.
d) With a neat sketch explain the working principle of * Center weft fork motion.’

11l a) Explain the principle of ‘Mechanical warp stop motion’.

04
08

04
08

04

b) With a neat diagram explain the working of ‘Electrical warp stop motion’ of an automatic powerloom. 08

OR

¢) What is the use of weft replenishment mechanism?
d) Explain the working of ‘Shuttle Changing Mechanism’of an automatic powerloom.

IV a) The length of warp on a warpers beam is 24,000 yards and the number of ends in the warp is 560.

If the net weight of the warp is 400 Ibs. Calculate the beam count.
b) Calculate the Quantity of yarn in Ibs which will be required for a set of 8 back beams to be
produced on a high speed beam warper. The length of warp on each beam is 30,000 yards

04
08

04

and there are 500 ends on cach beam. The count of yarn is 60°. Allow 2 % wastage during warping. 08

OR

¢) Calculate the weight of warp on a set of back beams within contains 32,000 ends. The length

of warp on each beam is 20,000 yards and the count is 60°.

d) A warping machine with a speed of 920 yards/ minute is preparing a warp of 600 ends. If the
count of yarn is 36°, efficiency is 90 % and the length of warp on each beam is 66, 240 yards.
Calculate the following,

i) Total length of warp produced per day of 8 hours.
it) Number of beams produced per day of 8 hours.
iii) Total weight of yearn warped in 8 hours.

iv) Weight of yarn on one beam

04

08

P.T.O.
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a)

b)

¢)
d)

a)

b)

c)

d)

The Reed width of the warp is 42 inches. 111 sections are 10 be made for the warp, what 14 the

Width of each section?

If the total no of ends in the required warp is 3200 and the creel capacity is 500 bobbins, ascertain

the following.

i) Total no. of sections to be made

it) No. of ends in each section.

OR

. . . e - the size - stand wheel.

If a 36 teeth tin roller is used for a cut length of 30 yards. calculate ”lf, 176 “.1 ’.‘“', ::nrj \:Jlln” .
The Actual production of a high speed slasher is 4800 yards/ hour. 11 the peree ntage l“ L( '/ b wet of
during sizing is 0.5% and the wastage of warp is 48 yards, calculate the time required to size a s

8 back beams containing 32,000 yards of warp on each beam.

. . < arn if the actual production
How may drums are required to wind 800 Ibs of 26" cotton yarn in 8 hours . if the actuai j

per drum is 520 yards/minute.

The rate of winding of a super speed automatic pirn-winding l‘nachir'\c s ‘())ttw() yards/ I»Tllnlltc.f s
Caleulate the actual production per day of & hours, if the efficiency is 90 % and the count of yarn 15 26

OR

Calculate the production per hour of a loom running at the sped of 200 RPM with efficiency of 80 %.

The picks/ inch is 72.

A loom shed contains 378 looms of the following particulars:

Reed space of the loom
56 inches
52 inches
48 inches
44 inches
40 inches
36 inches

No. of looms
40
30
44
48
96
120

Calculate the average reed space of the shed.

ok o s ok ok kR ok Kok ok R R KR F
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04
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04
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4.1 WEAVING TECHNOLOGY & TEXTILE CALCULATION - 11

Tune 3 Houry - ;____w_g_m_m____ﬂ_Mi&,Mﬁ[kﬁi_@
I PART-A .
Answer sll the questions within 2 to 3 sentences. 2x10=20 Mar
;‘)) » What 15 the object of warp protector mechanism? .
}) Name two dobbies used i power loom

€)  What s the use of multiple box motion?

d)  Name the mechanism that make an ordinary powerloom into an automatic powerloom.

¢)  Caleulate the efficiency of a warping machine if its calculated production is 920 meters/min.
but actually producing 3,53,480 meters of warp in 8 hours.

) Calculate the count of warp in tex system 1f the weight of sized yarn is 60 Kg. with 2400
ends of 1000 meters length of warp

8)  Wnite any two reasons which decrease the speed of a loom.

h)  What are the factors involved in the warp calculations?

1) Caloulate the production in hanks for 8 hours if the pirn winding machine speed is 840 yar ds
per minute

1) Wnie the formula for calculating number of sections in a sectional warping machine.

PANT-B
Answer all the questions in detail. 4+8x5=60 Marks

Il a) Differentiate the loose reed and fast reed mechamism. 4
b)  Explain the loose reed mechanism with neat sketch. 8

(OR)
¢)  Compare side weft fork and centre weft fork motion. 4
d)  Explain the working principle of Climax dobby 8
[l a) Whatis the shuttle changing mechanism and its use? 4
b)  Explain the principle of mechanical warp stop motion. 8

(OR)
¢)  Explain the layout of a power loom shed. 4
d)  Explain the working of cop changing mechanism with diagram. 8

IV a) The weight of warp in the beam is 240 Kg. with the number of ends in the warp is 500 and

the length of warp is 20,000 metres. Find the beam count. 4
b) A super speed beam warper with a warping speed 880 yards per minute is producing a
standard warp of 525 ends. The count of yam is 30° cotton and overall efficiency is 84%.
The length of warp on each beam is required to be 44,352 yds. Calculate the following.
1) Total length of warp produced per day of 8 hours.
i1) Total weight of yarn in pounds warped per day of 8 hours.
11i) Number of beams produced per day of 8 hours.
iv) Weight of yarn on each beam. 8
(OR)

c¢)  Calculate the number of ends in the warp on a back beam, if the weight of the warp is 330
Kgs, the length of the warp is 32,000 metres and the count of warp is 33 Tex. : 4

d) A super speed beam warping machine is required to supply 50,000 mts. of warp with 3234
ends for a set of warp back beam. The count of warp is 20 Tex. If the capacity of warping
creel is 480, calculate the following:

1) No.of ends on ends each back beam.

1) No.of backs beams to be made.

i1) Weight of warp yam on each back beam.

iv) The total weight of yam required for the back beams with 1!2% wastage. 8



VL

b)

d

b)

d)

-

A sized beam contains 40 Kgs.of sized warp of 1000 mts. long. The Cf;unt of the unsized
yamn from which the warp has been prepared 13 12 Tex. If the number of ends in the warp is
2500, calculate the percentage of size.

A warp containing 2500 ends and 3200 mts long has to be sized with 25% size on it. If the
count of warp yamn is 16 Tex, calculate
(1) The weight of size to be put on the warp.
(1) The weight of sized warp :
(iii) The count of sized warp.

(C)
A stripe warp has 40 stripes of 50 ends each and 30 extra pattern ends, 20 selvedge ends on
each side. Find the number of sections and number of ends on each section if the creel
capacity is 500 bobbins.

A stripe warp of the following particulars is to be made on the sectional warping machine.

Total number of ends in the body warps 2320 ends.
Selvedge ends on each side of 40 ends.
Creel capacity 400 bobbins.
Width of warp on beam. 40 inches.
Calculate the following

1) Number of sections to be made.
1) Number of ends per section.
i) Width of a section.

How much time will be required to wind 2388 lbs of 20" cotton yarn on 40 drums of a super
speed cone winder, if the calculated rate of winding is 1298 yds/min and the efficiency is
80%.

Five barber column super speed beam warping machine with a average production (actual) of
3,02,400 yards per day of 8 hours each is required to be supplied with warp by barber
column automatic spooler having a production of (actual) 70 hanks per hour per drum.
Calculate the number of winding drum required to feed these super beam warping m/c. The
average number of ends on a warping beam is 496.

(OR)
Calculate the average rpm of weaving shed containing 550 looms with the following
particulars:
Number of loom RPM
150 looms 250
200 looms 300
200 looms 180

A weaving shed contains 200 looms have 42 5T reed and works with 33° count of weft, the
average picks/inch of the cloth produced is 44 and the width of warp in the reed is 40”. The
production per day of 8 hours is an average o 63 yards, the pim supply contains an average
of 1.22 ounce of weft on each, if change over is made to larger size of pim with 2.02 ounce
of weft on each. Calculate the increase produstion per day of 8 hours on these 200 looms.

~-000--
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PART-A

Answer all the questions within 2 to 3 sentences. 2x10= 20 Marks

a) Mention the function of loose reed motion.

b)  Write the importance of weft detection motions on looms.

¢) Write the importance of weft replenishment motion in an automatic powerloom.
d) Define pick at will motion.

e) The calculated rate of warping of a warper was found to be 4719 yards per hour. If the actual
production per hour is 3064 yards. Calculate its efficiency.
f) What do you understand by the term back beam?

g)  Write the formula for calculating percentage of size applied on warp.

Width of warp is required to be 40 inches .The number of sections in the warp is 8. Calculate
the width of each section.

1) Write the formula for calculating actual production in metres per hour per loom.
i) The calculated rate of winding of a super speed cone winding is 1300 metres per minute, if
the efficiency is 85%. Calculate the actual length of yarn wound in kms. per day of 8 hours.

PART-B

Answer all the questions in detail.

I a) Define right handed dobby and left handed dobby.

4
b)  Explain with sketches about side weft fork mechanism. 8
" (OR)
c) Explain briefly about two types of warp protecting motions used in powerloom. 4
d) With the help of line diagram, explain the working of climax dobby. 8
I a) Name the motions that make an ordinary powerloom in to automatic loom. 4
b)  Explain with simple line diagram the working principle of drop box motion in
powerloom. 8
(OR) -
¢)  What are the advantages of warp stop motion? 4
d)  Explain the working principle of shuttle changing mechanism of an automatic loom
with neat sketch (any make). 8

P.T.O
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b)

<l

d)

&)

b)

d)

2)

b)

c)

d)

Calculate the fength of warp that can be produced per day of 8 hours on an improved
modem hlp,h speed heam warper, il the warping -.pccd 18 600 yards per munuie  the A
overall efficiency 1s 85%

Calculate the time required to prepae a set of 8 warpers heam on 2 improved high
speed beam warpers with a warping speed of 560 yards (calculated) per minute The
length of warp in each beam 1s required to be 16000 yards. The overall efficiency of 4
the warping machines 1s 80%

(OR)
The length of warp on a warpers beem 1s 36000 yards and the number of ends in the

warp 1s 420. If the net weight of the warp on the beam 15 500 pounds Calculate the
beam count. 4

A super speed beam warper with a warping speed of 880 yards per minute is
preparing a standard warp of 325 erds if the count of the yarn 1s 30" cotton and the
overall efficiency 1s 84%. The length of warp in each beam 1s required to be 441352
vards. Calculate the following (1) total length of warp produced per day of 8 hours
(2) number of beams produced per day of 8 hours. 8

The total number of ends in warp 15 2800, Calculate the number of sections to be
made, if the creel capacity is 500 bobbins. 4

The calculated production of a high speed slasher 1s 120 yards per minute if the

efficiency of the machine 1s 80%. Calculate (1) the actual production per day of 8

hours. (2) the total length of warp yamn, 1f the total ends in the warp is 3200. 8
(OR)

A sized warp 840 vards long contain 2500 ends and weighs 60 pounds. If the count

of the unsized yarn is 50" cotton, whut 1s the percentage of size on the warp? 4

A stripe warp has 42 stripes of 40 ends each, 40 extra pattern ends and selvedge ends

14 on each side. Find the numbe: of sections and the number of ends one each
section. The creel capacity i1s 500 bobbins.

The rate of winding of a high speed automatic pim winding machine 1s 400 meters

per minute. If the production per spindle per hour is 18500 metres, calculate the
efficiency of the machine.

A jobber looks after 40 looms in the day shift. The vaneties of cloth produced on the
looms on a particular day of 8 hous 15 given below, calculate the production of the
day at 40 picks/inch.
Variety Picks per inch
Sort No.1 36
Sort No.2 52
Sort No.3 60
Sort No.4 72

Production in the day
284 yards
277 yards
225 yards.
- 120 yards 8
(OR)

Calculate the production per hour of a loom running at a speed of 200 rpm with an
efficiency of 85%. The number of picks inserted per inch in the cloth is 80. 4
Calculate the time required for winding 3000 hanks of 12* cotton yarn from hanks on

a high speed automatic pirn winder with 8 spindles. The calculated rate of winding
per minute is 420 yards. Assume that the efficiency is 80%. 8
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“VIESTER - 4.1 WEAVING TECHNOLOGY & TEXTILE CALCULATIONS-ITI
Part— A
. W:I/:tﬂswe; all the questions within two to three sentences) 2 x 10=20 Marks
2 W ;m the objectives of warp-protection mcch'flmsm?
3 What 0 Iy(?u u'nd'erstanfl by lhq term ‘lgom Banging-off’?
p Whtlu IS t t:L prl}j01;?lc oi‘l)rop-B‘ox mohqn?
) Wri‘t clj the objective of Warp Stop t.notlon? '
. iy o own the formula for calculating percentage of size.
SIX sections are to be made for a warp, which is 27.5 inches wide in the reed, calculate the
W-ldlh of each section.
7 LlS! out the factors involves in a sectional warping calculation
8 VYnte the formula for calculating actual production of a power loom in yards per hour.
9 (.z-xlculate the efficiency of a winding machine, if its calculated rate of winding is 720 yards per
minute and actual production is 600 yards per minutes.
10 What do you understand by the term ‘Back-Beam’?
PART-B (4+8) x 5= 60 Marks
A)  Compare side weft-fork motion and centre weft-fork motion 4)
B)  With the help of line diagram explain the working of side weft-fork motion 8)
OR
C) Differentiate between loose-reed me(chan)ism and fast-reed mechanism. 4)
D)  Explain the working principle of climax dobby with neat sketches 8)
A)  What are the mechanisms makes a plain powerloom into an automatic loom? 4)
B)  Prepare a comprehensive lay out plan for a loom shed accommodating 50 8)
powerlooms. Also mention the facilities which are necessary for the shed.
(OR)
C)  Write a short note on Weft Replenishment Mechanism 4
D)  With the help of a line sketch explain the working of Eccle’s Drop Box 8)
Motion
A) Calculate the length of warp that can be produced per day of 8 hours on 4)
Modern High Speed, if the warping speed is 610 yards per minute. The overall
efficiency is 75%.
B) A super speed Beam Warping Machine required to supply 53536 yards of (8)
warp with 3234 ends for a set of Back Beams. The count of the warp yarn is
445 cotton yarn. If the capacity of the warping creel is 480 and the warping
beam has a flange diameter of 40 inches, calculate the following:
i) No. of Back-Beams to be made.
ii) No. of Ends on each Back-Beam.
iii)  Weight of warp on each Back-Beam.
(OR)
C) Weight of warp yarn on a Beam is 240 kgs. If the length of Warp is 20000 )
mtrs. and the number of Ends in the Warp is 500, calculate the Beam count.
D) 500 cones are to be used for producing Back-Beams containing 500 Ends and (8)
28000 mtrs. of warp on each. The weight of yarn on each cone is 2.2 kgs. and
its count is 16 tex, calculate the number of Back-Beams that could be

produced from the cone and also calculate the weight of warp yarn on each
back beam.

Contd....2
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A)

B)

@)

D)

A)

B)

0

D)

2)

The total number of ends in a warp is 2700. Calculate the number of sections
to be made and the number of ends in each section, if the creel capacity is 500
bobbins.
The weight of sized warp on a beam was found to be 82.5 pounds. The beam
contains 1050 yards of warp, whose count before sizing was 50° cotton. If the
number of ends in the warp is 3000, calculate the following:

1) The weight of size put on the warp.

i) The percentage of size put on the warp.

iit)  The count of sized warp yarn.

(OR)

A stripe warp is to be prepared on a sectional warping machine with a creel
capacity of 480 bobbins. There are 70 stripes in the warp, each stripe
containing 36 ends. Besides. there are 20 selvedges on each side. Calculate
the number of sections to be made and the number of ends in each section.
A warp containing 2500 ends and is 32000 mtrs. long has to be sized with
25% size on it. If the count of the unsized warp yarn is 16 tex. calculate the
following:

1) The weight of size put on the warp.

1)  The weight of sized warp.

i)  The count of sized warp yarn.

The weight of yarn on 100 bobbins was found to be 99 pounds. The amount
of waste made during winding was 1.0 pound. Find the length of yarn in yards
required for each bobbin, assuming the count of yarn to be 30° cotton.
A loom is producing cloth with 10 picks per centimeter on a Jet-loom with
P.P.M. of 300. If the efficiency of the loom is 80%. Calculate the time that
would be required to weave 1000 mtrs. of warp on a Weavers’ Beam. Take
6% as waste and up-take of warp in weaving.

(OR)
Calculate the number of spindles required to wind 30 kgs. of 15 tex. yarnin 8
hours, if the actual production per spindle per minute 1s 600 mtrs.
Calculate the production in meters of the day of 8 hours at 20 picks per
centimeter of 40 looms weaving the following varieties of cloth.

Variety Picl‘(s per I.’roducti on
centimeter | in 8 hours
Sort No.1 16 280 mtrs.
Sort No.2 20 270 mtrs.
Sort No.3 24 820 mtrs
Sort No.4 32 120 mtrs.

kR kR kR kR Rk Rk

4)

(8)

(4)

(8)

C))

®)

C))
@®
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CALCULATIONS - 111
Part—A

2X10=20 Marks

Mention the function of weft-fork motion in a powerloom.

List out the object of auxiliary mechanism.

What is the object of Multiple Box Motion?

What are the different types of Drop Wire used in Warp Stop Mechanism?
Calculate the efficiency of a warping machine if its calculated rate of warpin
mtrs/minute, but actually producing 736 mtrs/minute of warp.

Total number of ends in a warp is 3000, calculate the number of sections to be
made, if creel capacity is 250 bobbins.

100 units of yarn found to weigh 130 units after sizing. What is the percentage of
size put in the yarn?

Write a general formula for calculating an efficiency in the term of production.
Write the formula for calculating actual production of a power loom in meters.
What is the advantage of using sectional warping machine for warp preparation?

gis 920

PART-B 12 x 5= 60 Marks
A) Compare Loose Reed Motion and Fast Reed Motion. 4)
B) With neat diagram, explain the working principle of Loose Reed Motion. (8)
(OR)
C) Listout the advantages of Centre Weft-Fork Motion with respect of Side 4)
Weft-Fork Motion.
D) Explain the working principle of Side Weft-Fork Motion with suitable line 8)
diagram.
A) Explain the principle of Cop Changing Mechanism of an automatic loom. 4)
B) Explain the working principle of Mechanical Warp Stop Motion with neat 8)
sketch.
(OR)
C) Write short notes on an Automatic Loom and also mention the mechanism 4)
which makes its an automatic loom.
D) Prepare a comprehensive lay out plan for a loom shed accommodating 50 8)
power looms. Also mention the facilities which are necessary for the shed.
A) A warping Beam made on a super speed warper contains 200 kgs. of warp @)

wound on it. If the length of warp is 20,000 mtr and the total number ends in

it is 400, calculate the Beam- count of the warp yarn.
PTO



) Calulate the Auantity of yarn in pounds which will be recquired for 3wt of 6,
Back Beams b, bie gt vicdac oo o g Moo High Stead Bearm WMarpes The length
G waty on each mak Beam is 74,000 yards and there are 46) onds on nark
Batk Boam The (o af the garn is 36" cotinn Allow | 5% froe wasts durls 7
walfing
(Il
0 The wieight of Watp on a bearn made on g Modern High Speed Beatr Narper
s found to e p14 prunds if the number of ends in the warp s 442 and the
Count of the yarn g ) ratton, caleuiate the length of the warp i yards on
the bearm
1) A Modern High, ored Bearm Warping Machine 1 requred to ssppity 50,000
mtrs WAL wWith 3744 endy for 3 st of warp of Back Bearns The rount of
AT IS 20 Ter I the ¢ apacity of warping creel s AR0 calculate the following

) Mo of Back Beams 1o be made
hj Ko of erdds o6 sack Bark Boarr
Hij Weight of warp yarn on each Back Beam

14 A} W6 o Hons are 1o be rrade from 4 wWarp, which 27 % inches wide in the reed,

15

Calculate the width f carh sertion

“J Fowarp containing 2400 ends i required 1o be sized to 20% The length of the
sired warp on the beam s required to be 1080 yards if the count of unsized
Wargp yarn v, 40)° cotton, calculate the following

i} Weight of size to be put on the warp
") The weight of sized warp
i) The count of the sized yarn

(OR)

) The total number of ends in a warp is 2700 Calculate the number of sections
to be made and number of ends in each section, if creel capacity is 500 bobbins

D) Anunsized warp of 800 mitrs long is required to be sized 1o 25% on s weight
If the total number of ends in the warp is 3000 and the count of the yarn is 15
Texr Caiculate the fullowing

i) The weight of size to be put on the warp
it) The weight of the suzed warp
i) The count of the sized warp yarn

Aj  Calculate the time required to wind 400 pounds of 12° cotton yarn on 10
drums. The actual production per drum per minute is 560 yards

B)  Calculate the length of the cloth which could be woven from a pirn containing
32 grams of 25 Tex weft yarn, if the picks per centimeter in the cloth is 16
and the width of the warp in the reed is 80 centimeter,

(OR)

C)  Caleulate the length of cloth produced in 9 hours on a loom which makes 200
picks per minute. The picks per inch in the cloth is 80 and the loom has an
efficiency of 78%.

D) The calculated rate of winding of 3 fully automatic Super Speed Winder is 980
yards per minute. Calculate the number of spindle that would be required to
wind 30204 hanks of 20° cotton yarn in 4 hours. Ignore wastage and assume
that the efficiency is 90%.

EaRENERREIRRLY
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PART-A (2x10= 20 Marks)
Answer all the questions within two to three sentences

What is the necessity of weft stop motion in power loom?

Which type of weft detection motion is suitable for ‘Pick at Will’ loom ?why? -

Classify the drop wires used in warp stop motions?

Which type of mechanism is needed in powerloom to make crossover effect on the fabric?
Write the formulae for calculating the efficiency of a mill warping machine?

What do you mean by the term ‘back beams’?

Calculate the creel capacity to be used, if the number of sections to be made is 6 and total
number of ends in a warp is 3000?

Write the formulae for calculating size pick up%?

9. What is the calculated production of a cone winder, if the actual production is 90kg with 90%
efficiency?

10.  How many picks will be inserted per hour, if the crank shaft of a loom is running at 300 RPM?

NS kW

&

PART-B 12 x 5= 60 Marks
11. A) Differentiate between side weft fork and center weft fork mechanism? 4
B) With the help of a neat sketch, explain about the working of any one type of warp
protection mechanism? (8)
OR
C) Draw the diagram of pegged lattices suitable for Right handed & Left handed
climax dobby by taking 2up 2 down twill? ()
D) With the help of a neat sketch explain about the working of climax dobby? (8)
12. A) What are all the features required for a automatic power loom? 4)
B) Explain about mechanical warp stop motion with a neat sketch? 8)
OR
C) Write about the features of a drop box type multiple box motion ? 4)
D) Prepare a layout plan for accommodating 50 powerlooms. Also mention the
facilities which are necessary for the shed? (8)

PTO



13.A) Calculate the number of warping machines which would be required to warp 6,33,600
' yards of warp in 8 hours. The calculated warping speed is 550 yards per minute
and the efficiency 1s 80%. Ignore wastages” (4)
B) A set of 6 back beams. each containing 30,000 meters of warp 1s 1o be produced on 3
high speed warping machines. If the calculated rate of warping per warper pet minute iy
300 and the efficiency is 80 percent, calculate the time required for preparing the set?  (8)

OR

C) Caleulate the count of yarn on a back beam which weighs 303 pounds and has 12000
yards of warp on it. The total number of ends in the warp is 420 and the weight of the
empty beam is 63 pounds. (4)
D) Five hundred(500) cones are to be used for producing back beams containing 500 ends
and 28,000 meters of warp on each. The weight of yarn on each cone is 2.20 Kgs and

its count is 16 Tex, calculate the number of back beams that could be produced from
the cones? (%)

14. A) The reed width of a warp is required to be 40 inches. If 6 sections are to be made
for the warp, what should be the width of each section? Consider 2 inches allowance?  (4)
B) A warp containing 2800 ends is required to be sized to 25%. The length of the sized

warp on the beam is required to be 1080 yards. If the count of warp is 40° cotton,
Calculate: (8)

i) The weight of size 1o be put on warp of the given length
i1) The weight of sized warp
iii) Thee count of sized warp yarn,

OR

C) The calculated rate of production of a slasher sizing machine was found to be 350 yards
per minute. Find out the actual production per shift of 8 hours with 85% efficiency? (4)
D) A stripe warp has 60 stripes of 30 ends each, 40 extra pattern ends and 10 selvedge

ends on each side. Find the number of sections and the number of ends on cach sections.
The creel capacity is 500 bobbins. (8)

15. A) Calculate the time required in hours to wind 500 Kgs of 10* cotton yarn on 10 drums.
The calculated production per drum per minute is 800 yards and the efficiency is 80%? (4 )
 B) A cloth is to be woven with 40 pick per inch on a loom having a rpm of 300, The
total length of warp on the beam is 1500 metres and the warp take up in weaving
is 5 percent. If the efficiency of the loom is 85 percent, calculate the time required to

weave the warp on the loom beam. Take 10 meters as waste of warp? (8)
OR
C) Calculate the production at 20 Picks per ¢cm 4)
Veriety _lji_c_kiggi Cm Production per day of 8 hours
Sortl 130 11000 metres
Sort2 |40 _ 1600mewes

D) A loom is producing 10 meters of cloth per hour with 50 picks per inch, The reed width
is 40 inches, If the count of weft is 20" Ne and the weight of weft on a pim is 50
gms, calculate the number of pirns required per loom per hour? (%)
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TEXTILE CALCLATION-II
PART-A (2%10=20 marks)

Answer all the questions within two to three sentences
What type of shed is formed in barrel dobby?
List the features of multi treadle loom
List the objectives of cone winding machine.
What are auxiliary motions of a powerloom?
Write the advantages of early picking.
Write the names of two important shaft of powerloom.
Write the formula to calculate the resultant count in direct and indirect

system.

The resultant yarn count of two fold yarn is 31.5¢ Ne. count of first component
thread is 72 Ne. find the count of other component thread.
Write the formula to calculate crimp percentage.

What are the advantages of carrier wheelc?

PART-B (4+8) x5=60 marks)

Answer all the questions in detail

Discuss the design features of a pit loom. (4)

With neat sketch, explain the working of a lattice dobby. (8)
(OR)

Prepare a layout for a 25 loom capacity handloom shed. 4

With neat sketch, explain the passage of warp yam in multi-treadle loom. (8)

Write the objectives of beam warping machine. 4)

With neat sketch, explain the yam passage in cone winding machine. (8)
(OR)

P.T.O....



(2)

€ Lust the different types of heald reversing motions. (4)
D With neat sketch, explain the yam passage in ordinary pim winding machine (8
13 A List the limitations of over pick mechanism. {4)
B With suitable diagram, explain any one type of under-pick mechanism. &
(OR}
C  Compare early picking and late picking, (4)
D With sutable diagram, explain the working principle of negative let-off (8
mechanism.
14 A Calculate the average count of warp yarn prepared from 30 tex and 40 tex 4)
yam on 1:1 basis
B Calculate the average count of warp yarn prepared from 20 Ne and 30 Ne and (8)
40 Ne yarn on 1:3:2 basic
(OR)
C  Define the Stock port (ST) system of reed count. 4
D Calculate the total number of ends in the warp with the following particulars. (8)
Reed count — 40 ST, denting order (body) - 4 ends per dent, denting order
(selvedge) — 8 ends per dent, total reed width — 50 inches (including 1”
selvedge)
I5 A List different types of gears with simple sketch. “4)
B Pulley A rotates at 120 rpm and has a diameter of 30 cm. Pulley B has a (8)

diameter of 30 cm which is driven by pulley A. Pulley C and B is fixed on the
same shaft. Pulley C has a dimeter of 40 cm. Another pulley D has a dimeter
of 30 cm which is driven by pulley C. find the speed of pulley D
(OR)
C Calculate diameter of a loom pulley required to get a loom speed of 200 rpm. 4
Line shaft speed is 120 rpm and diameter of pulley present in the line shaft 1s
15 inches.
D Find the speed of wheel “U” with the following particulars (8)
Wheel U 60 T, wheel V —40 T, wheel W ~ 80 T, wheel X — 30 T, speed of
the wheel X shaft is 500 rpm. Wheel U drives wheel V. Wheel V and Wheel
W is fixed on the same shaft. Wheel W drives wheel X
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PART-A (2x10= 20 Marks)
Answer all the questions wit’ain two to three sentences

Classify the warp protector mechanism based on their working principle?

What do you mean by double lift dobby?

What is the necessity of automatic weft replenishment mechanism in powerloom?

How the loom width and speed are interrelated?

What is the production per shift of 8 hours of a warping machine with a speed of 500 meter

per minute?

6. Write the formulae for calculating the efficiency of a warping machine?

7. Calculate the number of sections to be made if the number of ends in warp is 2500 and the
creel capacity is 500?

8.  Write the formulae to calculate the percentage of size put on yarn?

9.  Calculate the actual production in hours of a pimn winding machine with a calculated rate of
winding of 600 meter per minute and efficiency of 75 percent?

10.  Calculate production per hour in meter of a loom running at a speed of 300 rpm with an

efficiency of 75 percent. The number of pick inserted per inch in the cloth is 60 ?
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PART- B 12 x 5= 60 Marks
11.  A) Compare side weft fork mechanism with center weft fork mechanism? 4)
B) With the help of a neat sketch explain about the working and mechanism of
fast reed warp protector motion? (8)
OR
C) Give the classification of powerloom dobbies? 4)

D) With the help of diagram explain the working of side weft fork mechanism? (8

12.  A) Compare automatic powerlooms with non automatic powerlooms? 4
B) Prepare a layout plan for accommodating 50 powerlooms? (8)
OR
C) Discuss the importance of warp stop motions? Give its classification? 4

D) With the help of a neat sketch explain about any one type of drop box mechanism? (8)

13. A) Calculate the quantity of yarn required in Kgs to make the warp of 1500 yards length with
600 ends. The count of yarn is 30° Ne and ignore the wastages during warping ? ~ (4)
B) 10 set of 5 warper’s beams each, is to be produced on 4 warping machines. The length of
warp on each beam is required to be 15000 metre. If the actual production per warper is
2500meter per hour, how long will it take to complete the sets? (8)

OR
PTO

iad



C) The calculated rate of warping of & warper was found to be 4000 meter per hour. If
the actual production per day of 8 hours is 25600 metres, calculate its efficiency?

D) The warping speed of a modern warping machine is 700 yards per minute.
Calculate the length of warp in meters that can be produced on 4 warping

machines in a day of 8 hours with an efficiency of 75%?

14. A) The total number of ends in a warp is 2800.Calculate the number of sections to be made and

the number of ends in each section, if the creel is having capacity of 500 bobbins.
B) An unsized warp of 1000 meters long is required to be sized to 20% on its weight.
If the total number of ends in the warp is 3000 and the count of the warp yam

is 20 tex. Calculate the following
1. The weight of the size to be put on the warp
ii. The weight of sized warp
iii. The count of the sized warp yarn
OR

C) What is the actual production per hour of a slasher sizing machine whose draw roller
is 10 inches in diameter and has a speed of 40 rpm. Consider 80% as efficiency

D) A stripe warp is to be prepared on a sectional warping machine with a creel capacity
of 500 bobbins. There are 60 stripes in the warp, each stripe containing 40 ends.
Besides, there are 20 selvedge ends on each side. Calculate the number of sections

to be made and the number of ends in each section?

15. A) Calculate the time required to wind 600K g of 20° cotton yarn on 10 drums.

The actual production per drum per minute is 560 yards.?

B) Calculate the average picks per minute with the following loom particulars:

No. of looms of different sizes Average R.P.M of each size of loom |

&
(8)
(4)

(8)

4)

(8)

)
(&)

100 looms of 48 inch reed space

50 looms of 40 inch reed space 250
60 looms of 42 inch reed space 200
150

OR

- 4wermrme o C) A shuttle less rapiepdoom is running at 450 rpm and producing a cloth with 5 e
- picks per inch. If the efficiency of the loom is 80 percent, calculate the

production in meters of the loom per day of 8 hours?
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D) The actual rate of winding of the spindles of a pirn winding machine is 840 yards
per minute. If 600 pounds of 40° cotton yarn is wound to be in 20 hours, Calculate

the number of spindles that would be required ?
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